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General Instructions :

(i)  First 15 minutes are allotted for the candidates to read the question paper.
(ii)  All questions are compulsory.

(iii) Ilustrate your answers with labelled diagrams wherever necessary.

(iv) Marks allotted to each question are mentioned against it,
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(Multiple Choice Type Questions)

1. Choose the correct option and write it in your answer-book : 1
(a) Ttalleles are pair of :
(A) Homozygous long
(B) Heterozygous long
(C) Homozygous dwarf

(D) Heterozygous dwarf

(b) Bt cotton formed from :
(A) Virus
(B) Fungi
(C) Bacteria

(D) Insects

(¢} Which one of the following is secondary consumer ?
(A) Rat
(B) Squirrel
(C) Lizard

(D) Grasshopper

(dy Which one of the following is not a cause of loss of biodiversity ?
(A) Over exploitation
(B) Co-extinction
(C) Habitat loss
(D) Forestation
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(Very Short Answer Type Questions)

2. (%) ... Fehaner o1 g w9 A | 1
(@) e o & gus w1 am fafae | 1
(M) fFrEEE R 7 !
(9) e draor T & @t dreor & 9 R wferera St wafea B 2 1
(8) Tt e fofm-wrgerm vl farm o 1 ferfre | 1
2. (a) Write the full form of abbreviation 1.V.F. !
(b)  Write the name of indicator of industrial pollution. 1
()  What is nucleoside ? 1

(d) How much percentage of energy passes from one trophic level to another trophic

level ? 1

(e)  Write name of any one sex-linked recessive disorder. 1

(wg-3e W)

(Short Answer Type Questions)

3. (%) | wEiy feuft fafge | 2
(@) ﬂmiﬁﬁaﬂhﬁﬁﬂl 2

(M) wWiefdmasng ? | 2
() W wyw § et A g Rt w2 ? o o frafn yomeh # 5 s
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Write a short note on Humus.
Describe exponential growth.

What is antitoxin ?

What is the number of chromosomes in a female honeybee ? What is sex

determination system called in them ?

Write two characteristics of genetic code,

(vg-ITi w¥)

(Short Answer Type Questions)

(F) TS A IR T, & Wi HRi % A forfee |

Jru i PR TR E T e
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Write the name of all types of RNA found in prokaryotes.

What is double fertilization ? What is its importance ?

Cannabinoids are obtained from which plant ? Highlight its importance.

Write a note on Baker Yeast.
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T IR.F. F1 i ¥ forflg | s s ser A | e @ 2 1+42=3

g ik argqul snfern 3 fang g | - 3
ST, w1 gl w9 forfau | ae Ae Wy gt | 1+42=3
T TaTEs wt faft fafw | a
Write full form of A.R.T. What is its importance in human lifc ? 1+2=3
Differentiate in co-dominance and incomplete dominance. 3
Write complete form of G.M.O. Highlight its importance. 1+2=3
Write a note on cloning vectors.  https://www.upboardonline.com 3
ot < e o wifdm ot i | 1% +1% =3
yTie=r & el fafenan 3 weea =t ferfta ( 3
Ueeh1gTeT o yvTa W feoquft fefgw | 3
iR ¥ Tt e i THifR R | .
Give short introduction of any two drugs. ' 1% + 1% =3
Write the importance of species diversity in ecosystem. 3
Write a note on effect of alcohol. 3
Draw a labelled diagram of sectional view of mammary gland. 3
[60f8] (Y-2)


https://www.upboardonline.com/

(Ferega - 3ol wet)

(Long Answer Type Questions)

7. wmmé?mmm%aﬁ%?maﬁaaﬂhml 1+41+3=5

YT
3Tels 3% 0 e § 7 ) W et w i i | 2+3=5
7. What is Pollination ? How many types of pollination are there ? Describe with
examples. 141+3=5
OR
What is Menstrual cycle ? Describe its main steps. 2+3=5
8. Al Wil & faermar % s W w Py Rt | 5
o _
A JETeIS 1 TieF Juid Hif | 5
8.  Write an essay on evidence for evolution fof life on earth. 5
OR. E
Describe lac-opéron with diagram. i | 5
9. et T 35w e A e | | 5
) -
O
- 5 e 0 e e 5
9,  Describe the companents.of a water eco;)‘gcm in detat.il. - 5
OR
Write an essay on biodiversity conservation. 5
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